FHMIZFHRT
BJEWD\/U f%%n_l_

20224 ISt




\l7/ 7

TERVE SRabES T
Bmquh‘/u txkEET (2022€F)

(1) BRI
» FRADAZECE TOEREFEY)
Rtz SVBRENIEES
SHILERIEES
-INED—EDIRF R EIEE

(2) XISREAR
2022F1H1H~2022412H31H

(3) BEFOERE

[DAZEEERLRE FiRANAE R RESEARR
20165 (CEDEEFRL TVLET,

(4) &EEHEERCDONT

BEUN 1 B E10BKBOZE(E. BNBIRKREOH =R
Mol ~3114~6117~9 [EREBLTVFT,

(5) BR

CEERTER IR

B EEREDHER

BRI EEREADHERS

JEBIX 5>

BRI BEkEER (8- KB AT - 2L - B1iZAR)



ERCEE O

V3 1,246 - 1,192 - 1,499
Bk 741 59% 685 57% 885
BB OEXIER
1428
1,600
400 1,499
' 1,246 1192
1,200
1,000 885
800 741 685
600 e
° e 614
400 505 507
200
0
20204 20214 20224
Bt FIXIHER

100%

80%

60%

40%

20%

0%

20204

20214

20224

59%

41%

—— %
—— 1%

mEH
[ Jegics



FARIZRMAE

T T

20T 11 (4~6) (7~9)

30 21 19 14
4048 56 67 72
50mAt 120 103 148
60 230 214 261
704K 468 452 563
80mft 298 284 369

90m it £ 42 49 64

FRNISHHS
0%  10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

1.7%
0.9%

20204 ‘ 23.9% 3.4%

1.6%
0.3%

20214 23.8% 4.1%

0.9%
0.5%

24.6% 4.3%

B 20AAT w30k W40m%M 50k me0mft m70m%ft W80t mMOORMALLL



&
NG B - HRER

20 12 18

RiE 26 39 48
136 115 142
(7~9) (4~6) 13
234 216 e
35 31 37
18 23 27
(7~9) 16 11
[ 59 70 78
N 164 =
16 17 17
128 127 137
F= 37 34 35
16 12 17
97 % 140
T (4~6) (7~9) (1~3)
L 57 75 85
19 25 24
(7~9) (4~6) (4~6)
EZ 0 0 0
FE [T 10 (7~9)
B 20 S6
=2 14 (7~9) 13
KT 20 15 16
N s 12 14
i B o) (1~3) (4~6)
Cp 22 22 32
0 0 (1~3)
45 11 11

[RFERDAIA BRI

13 10

(7~9)



BPALAI EBIX 53 BIHER

20

15

(4~6) 12 (4~6) 34

e 91 230 25 114 61 e
s 0 0 0 (7~9)  (4~6) 0
s 36 58 (1~3)  (4~6)  (1~3) 32
s (1~3)  (1~3) 0 (1~3) H e

B RS iR Bk

(4~6) (1~3) (1~3) (4~6) (1~3) (4~6)

EMBI Bt EEEAEIS

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

I8

el
s

AIIZAR

» BiisREEES W BiEREEESIS

- EREEREATAES : R THIENABENRSNES (EFIX DD @ Oh %X AES!)
- KiBEfERE L TERs &t
-AHETAFRR ETBFIRRE 1A



BpizRl : B (20224F4EH)

1EN
T iin
20.0% 44.8%
40.0%
30.0% 25.4%

20.00/0 14.90/0
10.0% 6.0% 2%
3.0% >-2%
0.7% l .
0.0% — =

0-39 40-49 50-59 60-69 70-79 80-89 90-100

RerRine T RiEE

2.2% 0.7%

=10:BE%2 = 1:AARES - 232

e

=
= 20:fBAtEEEHETT = 3R BRIREER
=
= 30: R BIXEE = 8:Z0AM
=
= 80: MDAt “ 9: B4

o . X 1ADBEICHUEROABEEHFANETT
=y UAES SEAEHNET. (RIFEficEEEE %)

CARS D=
fefEima I 6.0%
RRRERIaE
EHRAE Il 2.2%
{EFFEEE I 15.7%
RDWESE | 0.0%
Zoft  0.0%

23.9%

38.8%

FRER I 21.6%

0.0% 5.0% 10.0% 15.0% 20.0% 25.0% 30.0% 35.0% 40.0% 45.0%



BpLRl @ KR (202265E51)

XA ILNER I OEETTY,

1EN

Fiiip
0]

45.0% 40.1%
40.0%
35.0%
30.0%
24.2%

25.0%

0.0% 18.9%

15.0%

10.0% 8.3% 5 3%
50% o705 %% I []
0.0% — =

0-39 40-49 50-59 60-69 70-79 80-89 90-100

RerRine T RiEE

3.3% - 5.3% 0.0%

=10:BE%2 = L AARES - (32

=3

u 20:fhEERAENT u 3R EREER
=

u 30:ftRBiFBEER n 8:Z0DAth

= 80:ZMfth " 9:74<BB

o . X 1ADBEICHUEROABEEHFANETT
=y UAES SEAEHNET. (RIFEficEEEE %)

CARE D=
fERRiRIaR
RRERIaE
BEHEREE 1 0.3%

{EFFE . 21.9%
RDwEE  0.0%

21.5%

26.2%

38.7%

Zof  0.0%
FEgzR I 9.3%

0.0% 10.0% 20.0% 30.0% 40.0%



D

30.0% 28.1% 28.1% 28.1%

25.0%

20.0%

15.0% 12.5%

10.0%
5.0% 3.1%
0.0% 0.0% 0.0% .

0-39 40-49 50-59 60-69 70-79 80-89 90-100

RPerEise 7 RZE

0.0% 6.3%

= L AARES - (32

=
= 3R BRREER

=10:BE%2

= 20: AT

T

= 30: MR EBRBE = 8:ZOAM
=
~ 80:Z0Afth © 9: 4B

VAN N X1IADBEICHUERDGFEAEHEDETT
A

SAREERE I 15.6%
fEfRiRaE  0.0%
AREEE  0.0%
BEHREE  0.0%
{EFEE I 21.9%
ADWEE  0.0%
Zoft I 37.5%
FEHE I 31.3%

0.0% 10.0% 20.0% 30.0% 40.0%



BhzRl @ Al (202247EH5)

LEA
Fiin
45.0% 42.0%
40.0%
35.0%
30.0% 26.5%

25.0% 21.0%

20.0%

15.0%

10.0% 4.3% 5.6%
>-0% 0.0% 0.6% . l
0.0% -

0-39 40-49 50-59 60-69 70-79 80-89 90-100

RerRine T RiEE

6.8% 0.0%

= 10:BEZ2 = 1:QAARES G252

o

&
= 20 :ABAtEEARTT n 3R BB ER
=
= 30: xR FEEER = 8:Z0Ah
=
= 80:70Ath “ 9: 4B

o o X 1ADBEICHUEROABEEHFANETT
aBENE SEAEHNET. (RIFEficEEEE %)

SRS N 3.7%
FERESRaE I 3.7%
AREFEE  0.0%
aRAE I 17.3%

{EFFE I 25.9%
ADWEE  0.0%

zoftt B 0.6%
FRHZ I 38.9%

0.0% 10.0% 20.0% 30.0% 40.0%



BBl : FLE (20224EHA1)

30.0% 27.3%

24.2%
25.0% 22.7% °
20.0%
16.4%
15.0%
9.4%
10.0%
5.0%
0.0% 0.0%
0.0%
0-39

- 40-49 50-59 60-69 70-79 80-89 90-100

RerRine T RiEE

0.0%

" 10:BF%52 = 1:hAARES - 252
£

= 20:fifEERAA T = 3ty BAREER
=

= 30t REXEE = 8:20fh

=
= 80:DAE © 9:7<BH

SRS SEAtHE. OWAFHERE )
5 o fiEbFEE =)

PARE LN =P 35.9%

FERESRIEHEE  0.0%

WA 0.0%

REHRGER 41.4%

{EFFE I 19.5%
ADWEE - 30.5%
Zofl  0.0%
REERE W 1.6%

0.0% 5.0% 10.0% 15.0% 20.0% 25.0% 30.0% 35.0% 40.0% 45.0%



60-00/0 53.80/0

50.0%
40.0%

30.0% 24.6%

20.0% 16.9%

0.0% 0.0% B 0.8%

0.0%

0-39 40-49 50-59 60-69 70-79 80-89 90-100

RPerEise 7 RZE

1.50/0 —\4.60/0 0-00/0
‘ - 10:HESZ - 1 AR (2
= 20: MBFEEENT

%
" 3R EFEE

P i

= 30: & B AR " 8: 201t
=
= 80:20DAih = 9:<BH
N - M1ADBRE(CHUEROEREEFSDETT
aENE SIBEEHNET. URIFEMRHLCEEE %)

SRR 0.0%
PEfEsRaR
ARIEE  0.0%
ETHRAER I 10.8%

{EFFE W 1.5%
ADRERE . 66.2%

24.6%

Zoftt W 1.5%
BEHR M 2.3%

0.0% 10.0%  20.0%  30.0%  40.0% 50.0% 60.0%  70.0%



